EARAROBEEIERT — 2 N— IBISH —F

2016547108 (B) 1EIEHM4E

m C3—16 C3 #¥5%—# (w8 | mEmml - |5 0 o s
[AE4£] 1% :140,000 ™ ~ 23#%:35,000M” ~ 33%&:18,000 M . 43&:10,000 M 53 :7,000
BB BEBR M MHE BF (FE) g4 L (&%) | BBIER | EOF SR | AR | HhE | BRE (FIR) / BE / £ERS
s ZIE :26. —2-2~ . — THERE (B
1Ry 3| hA—W i 4 2% 1(2_6)4 3-2-2-2 | 41.1 2 ;1:136) fbriers
L:T7ReL Y L—> B:VILNLATTI— AR
N 3 AEER g -1-1- = TEEEE (&)
>l s RSTFvTT14X 4 4 il (12.216/.29) 1-1-1-1 | 41.9 1 :ﬁsg) S
R:v12INTYT B:LAR—% ¥ TERBHIS
NTES . FEFFITE : 44~ - wEE (BH)
3 MBS U EE i 4 o (12217/24> 4-4-4-3 | 4.4 5 ;1_425) e
gz /XLy b BiNYRTE-X A —8l
o[y 4 g | BAKH 1:27.7 9-9-7-5 | 4.1 | — 3 495 | HEFT (BF)
sy 7|7 TIVRFE=| A53.0 (1 1/2) (- |ALEA—EB
R:TAIKRSy Y1 B:T7TI2—E—h J—HrTr—L
. . t 4 | AAHh 1:27.9 5-6-5-4 |41.4| — 7 424 | BRfE— (BH)
5181(10 <) Fv 54.0 (3/4) (+8) (B) *F—x457
RIS IATA—h— BiALLIR—I HRH T 77— L4
S =HEX :28. -8-9- 5| — BEHML . (ZH)
6155 VA=Y I 44 = (12218/24) 7-8-9-8 | 41.5 9 (4_913) ot
L:oR7% BTSS48T RIS
. EESEL : —10-11- — HEZN (BH)
7 7 8 Ny I:_Z"\ U/\)l/ o4 54.0 (11218/27> 8101179 1 411 s :?16) i&éﬂ%%
L:T77NTTT BNy E—XZ— R RES S
N EARRRE : ~7-5- = HhE= (S3)
8 4l b—>ET 4 4 =5 1.(218).9 10-7-5-7 | 42.2 4 (:?;t) S
L:Tv TRy N BTz TI0h =Y Tr—LA
N e N REE—BR : -10-10- — RAEA (BH)
9 2| E=FPLRUZL 4 e (11.219/.22) 11-10-10-11| 41.8 11 ;1+320) ;Ej#ﬁ&
LiwiNnNy&h7x BE-RJyTZXFXxy KR BHT7— L
= HERIE :29. Siata . - RAKX (BH)
10179 7727—7xX2% R i 153?)8 2956 w2 ° (4+118) BIHEH
vy YLdyk BYYHEITITILTa BAEX %Y K
- 1Rk Al : -5-7- - NHEE (BH)
1l1ly1T73 i 4 okt 1.(320>.2 6-5-7-10 | 43.6 10 (3_438) sl
SZRFAOd—= R BOXRERAATA EvJLy RT7—L4
@ 1 — S —EBlIEf
13=7r= 6,9,3,11,10,1,5,8,7,4,2
2ol=7r= 6,3,9,11,1,10,4,5,7,(2,8)
3a—7+— 6,3,9,11,(4,10),(1,7),5,2,8
40—+ — 6,3,11,10,7,9,4,5,8,1,2
[ N3
BB 3 220/ 714K 3-6 130H % E 3-6 120M 3EHE 3-6-11 560
8 B 3 110 3-11 260M B & 3-6 130H K31 3-6-11 1,650M
6 1309 6-11 400 B H 3-6 270
1 280M

ABICOVWTRDTEEERROODE. TR LIV,




